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foo=ox+bx+c { ueintercept:c 20

vertex: (n,X)

verrex form: Y= (x-h)* +¥

Y=x2+2x+l 1S r\aufoFb (b
Y= (x2+2x+ 1)+ squared (2)
Y= (x*+2x+1)+ -1
Y= (x+N*4+§
{ex: o>\ L——) _9q
Y= 2t |1x+3/ ax2
Y= 20x?- bx+°l) +3-R¢
Y= 2Ux-3N-IS

agiscriminant = p2-4aC {0 =1 solution

[posttive=2 Saurions negative =& no solurion

{_Parapolas _ »
(x-1) = Up(y-K) (y-k)?=Yp(x-H)
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veryex: (h, k) veryex: (n, k)
focus: (h \+p) fOCLS: (n+p,¥)
0§ of 0§ of

mmetry: x=h mmetry: y=k
?\?rect\'\xgd y=t-p Sd‘?( ectyix a: X=Nn-p

center:(h K) ma\;or 0XS: y= v.
£0Ci: (ntc,k) MDY OX\S: X
verticeS:(ht o k)

Co-VerHces: (n,ktb)

Tz 0%-p2or C=for-b0.)
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cem-er HhK) YBJOY OXIS: X =1
foci: *(N,LEC) MINOY OX\S:y =«
vertices: (h,kto)

CO-VeYHCLS: (Wil K)
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the equationsoooue Need to
equal 1+o be In Sfamo\ard Form

eccentricity:@= g <
X getermines how circuioy’
or ‘strerened’ it is
A alwoys between 6 ana 1

\Qrgey denomenaror is o

Q19 haie tne \enatn o€ the ma;or (1NN
b 13 o€ ine 1engtn 6€ the minor s

N+ (y-k)?
c|rC\e§>(*mo?ms lc"’evr\‘\r?\r (h,0)
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x-n"_ -8, W-A"_(x-n'_,
ot b ol b? ]
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f-—-
L center: (n,
S NerticieS: (n,cto)
. o £OC\: (h,Lt0) :
tronsNerse oS y:- v tronsuerse oxig: x= h
conjugate XIS - x=h  conyugade OIS -
osumMtotes: Y- =22 (x-r) aSYMiotes: y-r=*

0U1S OlWOWS tne First not 1argest

center: (nh k)
Nevticies: (h*m )
£oc\: (htC,K)
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CIOS3I FYiNG conics VSing aiscriminant
Ax? +Bxy * Ly’ +Dx+Ey +F =0

circle: @2 - YACe O 830 A=C

ellipse: B*-YAC L0 820 ,A*C

poavapola: 8% -4YAat =0

hyperbola: B*-YAC>0




